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The metal used a talyst in the conversion of alkene to aldehyde in hydroformylation

reaction is -

SRS ’*i(ﬁ‘?%@’}i 1 ?‘; % ("ﬁ?? % \\?G S5 gi“?ﬁ;‘;% 3{ R EER @ W W @H g W‘%% %ﬁ?@; % -

(A) Co (B) Ni
(©) Pd (D)

CH}“%“C%’%‘{%%{S aﬁhy-ﬁd{.g Cgts — Q

O O

Above reaction is an example of -
(A) Friedel Crafis reaction
(C) Darzon reaction

(B) Hunsdicker reaction
(D) Williamson's reaction

CHy —C—Cl+ CgHy FRAICE  CgHg— % ~CH; +HCI

Suea ofalear SEEw © —
(A) Trzw wey situimar &
(C) sroom srfyfpar &t

(B) zsulest ke o
(D) TaRrgmgs athfear &

Which of the following solutions will have lowest pH ?
frefefeon fomaet & w9 &9 pH feaey a7 ?

(A) 1.0 M CH;COOH (B) 1.0 M HCOOH
(C) 1.0 M HNO, (D) 1.0 M HCN

The % ratio is highest for unipositive -
(A) hydrogen (B) helium

(C) neon (D) argon
/WWWW%WWMW H % Ry SoEad B § -
(A) wEEH (B) dfram

(€ fra (D) ot

From the following which acid is strongest acid ?
Freafufeg & § w1 o YEEaH W § 7

(A) ClO4(0OH) (B) CIO,(OH)
(C) SO(CH), (D) SO,(CH),

66_(1929)] = 2 [PT.O.

6  Which of the following configuration represents most eleciropositive element 7

-y

Fa K~ SR S
e ¥ ¥ sF-a o weite ombed o © vee o ¥ 7

(A) [Hel 28! (B) [He] 6s!
(Cy [He] 257 (D) [Xe] 652

7 Which of the following formula is correct ?
frdfvasma et ?

Py AX 5 O (7Y Aw
(A) KP~LG{R§} (B) épmﬁmg?g;ﬁa
o N s A%

(C) K =K,RT (D) K =K, (RT)

8  That equlibrium state at which there is no effect of change of pressure is
I5 wraERdT (9 U 99 S9E @ FE gV T BT ¥, 9 ¥ -

(A) Hyg) tlag = 2Hlg) (B) PClsgg) = PClyg) +Clyg
(C)  2NHj(g) = Ny(g)y +3Hy(g) (D) 280;(g) +Oyg) = 2505y

9 Which temperature is known as absolute zero 7
(A) 273°C (B) -273°C
(C)y 0°C Dy 1/273°C

10  The number of isomers possible for CsHy, is -
CsH, & o wamerafeal &) oo g & -
(A 3 (B) 8
© 5 )

11 On heating with H,/Pd, 2-butyne will give -
(A) 1-butene
(C) cis-Z-butene
N 2-=gEET & H, /Pd & @iy T w ¥ ¥ & -
(A 1-=Em (B) n-sgeHTd
(C) wuaw-2-=2EF D)

(B} n-butanol
(D} trans-2-butene

66 (1929)] = 3



13

14

15

Under [UPAC nomenclature, ethylene giycol will be named as
(A) ethane-1,2-diol (B) 1-hydroxy-2-ethanol
(C) 1,2-dihydroxy ethane (D) Z-hydroxy-1-ethanol
TUPAC vorey % S R Togee & 9/ 8 —

(A) Twdm-1.2-sgend (B) |-sEgeEr-2-udeTE

(C) 1.2-sresgeal Tde (D) 2-TregTeRdr-1-udsie

Among the following molecules, which one has the least surface tension 7
{A) Kylene (B) Acetic acid

(C) Benzene (D) Diethyl ether

e oropel % & Reee I @ =REaE § 7

(A) SmE= (B) wElks

€) == (D) =% Um gu%

The reaction 2R —X +2Na —¢ R R+ 2NaX is an example of :
{A) Kolbe's reaction (B) Friedel-Crafts reaction

(C) Wurtz reaction (D) Cannizzaro reaction

FRMBFT 2R —X + 2Na — =, R—R +2Na X SaEe ¥ —

(A) wiew artafear (B) wew-—HIrey SReaT
(C) g&= ertublsar (D) e afukear

Which of the following compound gives similar products obeying Markonikov's rule
and peroxide effect ?

TIRIFIHIE 5 (O U7 S THIT % e UEE IR o O A e F 9 e
%7

(A) CH;—CH=CH,

(B) CH;CH=CH-—CHs

(C) C,Hs—CH=CH-CH; (D) C,Hs—CH=CH,
Which of the following relationships does not correctly express the relation between
[H'] and pH ?

[Hlampl s e mddommm gy g =i ¥ 7

(A) ~logio[H* |=p" ® [wt]=107"

H

© [u]= e s () ~In[H"]=2303p"

66 _(1929)] = 4 [PT.O.
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Which statement is incorrect about Osmotic presure (), Volume (V) and Temperature
(T ?
{(Ay = = [T is constant.] (B) meoT [V is constant.]

¥
(C)y moeeV [T is constant.] (D) =V is constant when T is constant.
5 e ava - 3
HT, UG M (w), amge (V) @t aw (T) % g wed T

i

. A ¥ i, 4 . =1

(A) Tz [T fg ¥ (B) neT [VFmag ¥y
P gy e 5 o 5 .~ S e 4D B
(C) moeV [TFREE ] (D) nv From & el T Faw ¥

For the titration of HCOOH and KOH, which of the following indicator is most
suitable 7

{A) Phenolphthalein (B) Methyl orange

(C) Cresol red (D) Thymol blue

HCOOH @ar KOH & sigmod & fog 9ew ord 999 ¢ -

(A) HETEHIS (B) afrw aiw
(C) »aw T (D) "oEw =

Which of the following is not liquid at or just above room temperature ?
Prer % € oW & (Grg) 919 sruer 9% Sk SUT & 919 U O9% 59 W8 BT B 7
(A) Hg (B) Ge

{(Cy Ga (D) Cs

Which of the following represents correct increasing order of electron affinities for
boron, carbon, nitrogen and oxygen 7

I, e, TELEA T ST ¥ WY SRegi T S S 5O %9 9 § GeEl el
g7

(A) O>C<B>N B) N<C<B<O

(C) N<B<C<OQ D)y O<B>N<C

Improperly written formula according to IUPAC is -
TUPAC & oras o a0 § 78 frer g9 § -

(A) OF, By CLO
(C) HN, (D) FCi

LA
e
g~
=]
-
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3 d s Toe e uee Ol w%@‘l{%fw?o SRR
(Ay 34, By 3 d?Z
(Cy 3 :%M D) 34,

In the electronic configuration (n-2)s? (n—1)s? p® ns* pY, if n=3, x=2 and y=3, than
the element would be -

TRagS e (n-2)s? (n-1) s2 p® ns* pY & ofy n=3, x=2 qur y=3 2, o weg g —
(A) N (B) P
(C) B )

The oxidation numbers of sulphur in Sg, S,F,, H,S respectively are :
(A) 0, +1 and -2 (B) +2, +1 and -2
{C) 0, +1 and +2 (D) 2. +1 and -2
Sg. S,F, @t H,yS o weur &l Siiasiee o/awe Hash: 8l —
(A) O, +1 Tur -2 (B) +2, +l a2
(C)y 0, +1 Tur +2 D) -2, +1 7w -2

The structure of 4-methyi-2Z-pentene is -

A2 -0 B 9T R -

(A) (B)

© D)

The reaction H,(g)+1,(g)— 2HI(g) does not proceed to completion because it is -

(B) Endothermic

(D) HI formed is unstable

(A) Exothermic
(C) Reversible

H,(g)+1,(g) — 2HI(g) o5 orfufpar oof =%1 orll, =0ifs w© % -

(A) = (B) wwge
(C) wenmei™ (D) = gom HI afrg 3

66 _(1929)] = 6 [PTO.
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Consider the reversible reaction -

pN{g(z‘ Y‘“f%( “} ) ith‘g

\
{aq)

A% eguilibrium, the
;ﬁm} Qsmm HCN {
3} Decrease H' ion c@mﬁm‘fa‘ii@ﬁ
C} Increase equilibrium constant
D) Shift the reaction to forward direction

ey aifuRer o

ﬁgw{ﬁ%ﬁﬂ = ﬁtﬁ%ﬁ) *I—"-CNW{W)

QOISR U, CN~ SO @) ghg & 9¥ g -
(A) HCN (et @ grsal § &)

(B) H' el @ wrvsar ¥ oW

(C) wrarerar Ruds & 79 A ghe

(D) orfwfear e faw @7 ofix B

Keof 1, 4 dioxane is 4.9. The depression of freezing point for a 0.001 m solution is
dioxane is -

1, 4 sTEoea % M Ko w7 4.9 % 1 0.001 m sHenaa R % e Reie e
foparaT BrT 7

(A) 4.9 (B) 0.0049

(C) 4.9 + 0.001 (D) 0.491

Which of the following is not a buffer solution ?

= o ¥ F-w I e T8 B 7

(A) NH,OH + NH,CH (B) CH;COOH + CH;COONa
(C) CH,COONH, + NaCl (D) HCOOH + HCOOK

Which of the following sets of quantum numbers is not permitted ?
e § iF—w FaTveT deuell & 99Ty T 8 §edl ¢ 7

(A) n=3,1=3, m=0,s=+1/2 B) n=31=2, m=+42, s=-1/2
) n=3,1=2. m=-2,s=-1/2 (D) n=3,1=0,m=0,s=+1/2

H

i

7 [ PT.O.



31 What is the volume (in litre) of 4.4 gram of CO, at S.T.P. ? 36 The number of H ion in | cm® of a solution of ptf = 13 is
4.4 gm CO, &1 S.T.P. o o (Rex #) w0 8 7 pH=13 Reew & | cn® § HT argef o dem & -
(A) 44.8 (B) 22.4 (A) 6.023 x 107 (B) 6.023 x 1013
(©) 448 (D) 2.24 © 1% 10773 D) 1 x 1016
32 Conjugate base of (CHs) NHT is 37 The order of intermolecular .f%ﬁ es of liquids A, B and C is A <B < . Which of the
Y 2127 e ?@EE wing statements is true
(ﬁ‘g?}}? ,% w1 gyl 8w § (A) B vapourises more "%m@%;ﬁy than A.
(A) CH; NH, (B) (CHy), Nt | (B) B vapourises with less ease as compared to C.
(©) (CH,), N (D) (CHy), NH ‘ (C) A and B, both vapourise at equal rate.
§ 137 Sy 77 R . .
(1) A vapourises more quickly than C.
33 If a person is injured by the shot of a gun and all the pellets could not be removed, 59 A, B aw C % s=a0elie 5@ @ %9 A < B < C ¥ i Prfefen woef § € wmr o)
it may cause poisoning by - %7
aft w15 fe 959 @ TR ¥ aEw gen ¥ ol SEs o § Wy il e Fremre! S ged (A) B, A aner dreer € aiew g E
s > A
g, o sud o § we e @ e ¥ - (B) B, Cal oien &9 @ & ailad 8T ©
i{g} He g}} zb (C) ATW B ow & ar § oftea 8 ¥
) Fe AS -
/ ’ (DY A, C o} orver diger ¥ ol eier ¥

34 In what manner will increase of pressure affect the following reaction 7 ‘
38 Which of the following has minimum hydration energy ?7

C(5)+H20(5) =(CO)e) +Ha s) . e o o g gEaM Sade Set & 7

(A) Shift in the forward direction R * ! -

(B) Shift in the reverse direction z;; e {D)} /;H
a'= { i

(C) Increase in the yield of hydrogen
(D) No effect
o= oiftlrar & @w gfe &0 o efhlewr fsg v wwilem sl 7 3%  Which pair of the following statement is correct ?

C(s)+ H,0(g) = (CO)(g)+ H, (g) (1) Surface tension decreases when temperature increases.

(A) orfafror o Ram &7 el Rrenfe @
(B) erfuftrar uyw Ram & o Towufim ol
(C) w=ge @ 7= ¥ ghg o

(D) =% 9w =& T

(2} Surface tension decreases when temperature decreases.
(3) Surface tension is maximum at the critical temperature.
{4) Surface tension vanishes at the critical temperature.
(A) (1) and (2) (B) (2) and (3)
(C) (3) and (4) (D) (4) and (1)
35 Which one among following is optically active ? : Frefefen qedt # @ @er g9 w8 ¥ 7

Prefefed & & @ w1 geor oot ¥ 7 (1) 09 9 9T G601 ¥l § |

(A) CgHsCH,CO,H (B) CH, CH, COCH 2) W9 T U YSEAE "I §

~ (3) wiba® A 9T YA STfiReed e E

P

< «a ~@~§H a\> A ,_ﬂ@w{}ﬁ (4) wiFa® 99 T IeaaE W€ 8 W
OH on | (A (1) @) (B) (2) ¥ (3)
! (©) (3) IR (4) (D) (4) 9 (1)

66_(1929)] == 8 [PT.O. 66_(1929)] == 9 [PT.O.
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The oxidation state of phosphorus (P) in Ba(H,PO,), is -

3o

B&ég’z?@z}z :&%{ ‘\"52@?@ {?} E&A{ \ﬁvté‘f%‘:%}\ R é‘»‘ -
(A) +3 (B) +2
@) +1 D) -1

In metal oxide, 20% (by weight) is oxygen. The equivalent weight of metal is -
g1g oeEEe ¥ 20% (VR ¥) SesE § | uTg T gedil WY § -

(A) 32 (B) 40

{C) 64 Dy 72

If 342.0 g of cane sugar (C,,H,,0,,) is dissolved in 1000 g of water, the solution will

. HyO _, -
freeze at (Kf 2¥ =1.86 Km i)

2 1000 g T 3 3T & 342.0 g Foda %, Rrr et @ (K20 = 1,86 Ko™

(A) -1.86°C (B) 1.86°C
(C) -3.92°C (D) 2.42°C

Which of the following is arranged in order of increasing molecular speed 7
FrefaRas @ offvas TR % 980 5T %W o SERud hivg -

(A) HBr <O, <N, <H, (B) H, <N, <O, <HBr

(C) O, <HBr <N, <H, (D) N, <0, <HBr <H,

The number of oxygen molecules needed for complete combustion of 4 molecules of
an alkane C H, .5 is -

CHopin T8 % B el & Tof €87 & R oasas oieiier & oTosll & S Bi-
(A) 6n (B) 6n-2

{(C) 6n+72 D) 3n+2

In which of the following molecules / ions the inductive effect, resonance effect and
hyperconjugation effect are all opertive ?
frer & ¥ e oropetl/ememl o U@ wwrE, oAy aer wREgrs weE, wv e § 9

(A) CHy=CH-CH=0 (B) (CH3),C- CH,

+
@) (cHy),C

(C) CH3CH=CH-CH=0 3

66_(1929)1 = 10 [P.TO.

46 IV, is the volume of a given mass of gas at 273 K at a constant pressure then
according to Charles' law, the volume at 10°C will be -
afy et w T 273 Koo o e 9w o YV, @ gl & Brmmer 1000 W
g W AT BT —
. I .
(A) 10V, (B) 55(Vo+10)
10 283
(C) Vy+- (D) —=V,
RN YE oo e
47 The presence of ionic salts in lguid -
(A) decreases the viscosity of the liquid.
(B) increases the viscosity of the liquid.
(C) does not affect the viscosity of the liguid.
(D) none of the above is correct.
79 ¥ i wae @ SuRufy @ -
(A) &9 & U BT B Wiy
(B) T & U ¥ WY ¥
(C) =z & saar gl =8 o |
(D) wulem ¥ § @ 9 e ¥ )
48 7,0 is white when cold and yellow when heated. It is due to the development of -
(A} Frenkel defect (B) Schotiky defect
(C) Metal excess defect (D) Metal deficiency defect
d81 Z,0 ¥%e TG ¥ U1 T B UX I8 G o 9§ 1 9% uRerm ¥ -
(A) %dw BY W (B) gifea qW &7
(C)y urg oy a9 @ (D) urg <g=ar e @
49 In a hexagonal closest packing in two layers one above the other, the coordination
number of each sphere will be -
sz Fivs gge o, T% % $9C UH, & dhREl ¥ 5 O T @) Suesdan denr erl-
(A) 4 By 6
(C) 8 Dy 9
56 The reaction CH, = CH—-CH; +HBr— CH3CHBr—CH; is -
(A) Nucleophilic addition (B} Electrophilic substitution
(C) Electrophilic addition (D) Free radical addition
afufsar CHy =CH~CH; +HBr — CH;CHBr—CH; ¥ -
(A) THEE s (B) zoeRiTeel whemgs
(C) IoweFeE e (D) o TEe TS
66_(1929)] <= 11 [PTO
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Barbari is a breed of —

(A) Goat (B) Sheep

(Cy Cow (D) Camel

IREY T T E -

(A) THU B (B) ¥z &

(C) T &) (D) e &

The Rajashtan feeder canal enters in Rajasthan in district.
(A) Shri Ganganagar (B) Hanumangarh
(C) Churu (D) Bikarer
TORUT WET TET TSI o o ¥ wEy W g
(A) SRt (B) T

© 9o (D) R

The correct group of cities through which National Highway No. 8 passes is —

(A) Bikaner, Jaipur, Jodhpur (B) Alwar, Jaipur, Ajmer
(C) Udaipur, Kota, Bundi (D) Dhaulpur, Alwar, Dausa
57 T guTE ¥ BT TSR TR gE 8 e €, 9% ¢ -

(A) dFR, TEYY, YUY (B) o@ER, YT, ¥R

(C) waugy, ®ler, & (D) gy, ewaR, S

Which one of the following is not correctly matched ?7

(A) Bisalpur Project - Tonk (B) Som-Kamla-Amba Project - Banswara
(C) Meja Dam Project - Bhilwara (D) Chhapi Project - Jhalawar

Freffee ¥ ¥ @ @ @ g T8 37

(A) Srgmyr wfEe - o0E (B) O\9-prw—orsT aRgeeT — SIEEET
(C) wor 9fy wf@err - diwas (D) o oiEeT — FEEE

In which financial year 'Drought Prone Area Programme' was launched ?
T @R o Hemd B R av F gy gen ar 7

(A) 1974-75 (B) 1980-81

(C) 1985-86 (D) 1990-91

ate government

]
<
451
¥
b

o

56 The long term road network development planning

(A) Rajasthan Road Vision-2010

(B) Rajasthan Road Master Plan-2025
{C) Rajasthan Road Master Plan-2021

(D) Rajasthan Road Vision-2025
- 0 P — i -
T W TEH! 6 Uew $ MU oY @ @ dEade o

(A) TEEaE W REW-2010

M
H
o

(B) o Vg mrey we-2025
(C) TwEE UT grey wm-2021

(D) ™ s Rem-2025

57 The pink marble is found in

(A) Udaipur (B) Jaisalmer
(C) Jaipur (D) lalore
iﬁ?’ﬁ@? wrEw fwen ¥

(A) SEagT # (B) g o
(C) wag A (D) v o

& -

58 In which one of the following forts is Jhalibab Baori and Mamadev Ka Kund located 7

(A) Chittorgarh Fort (B) Gagron Fort

(C) Kumbhalgarh Fort (D) Taragarh (Bundi)
FEEE S s ARy w s e A A Rem g A Ram § °
(A R g (B) i g

(©) dwerTs gt (D) wrFE (380

59  Which Chauhan ruler made Ajmer the capital in place of Shakambari 7

(A) Vigrahraj U1 (B) Govindra; HI

(C) Arnoraj (D) Ajayraj

feg dleM 9TE% ¥ Tl $ WH W SEEK B qeEEl ST 7

(A) FTETs gam (B) TMR=Tw ga™

(C) arerirT (D) SreaTs
66_(1929)] =+ B

[PTO.



60 At which place in Rajasthan 'Tree Festival' is celebrated on 12% September every
year 7
{A) Mandore (Jodhpur)

(B Khejadii (Jodhpur)
(C) Phalodi (Jodhpur) ]

(D) Sardarpura (Jodhpur)

e ¥ e W uT aiEy 12 et @ g9 aed S 9 8 7
(A) =T (SER) (B) wsEar (SuqR)
(C) wamr (SEg) (D) wErRyU (SEg)

61 The district having lowest percentage of forest area is —
(Ay Churu B)
(C) Nagaur (D) Jaisalmer
e foed o a9 vRew @9 %, WE ¥ -

Jodhpur

(A) 8 (B) siugx
(C) =ik (D) SrEeE

62 Match the following and select the correct answer using codes given below

Mineral Region
(1) Copper (i)  Jhamar Kotra
(2) Gypsum (iiy Raipur Debari
(3) Lead and Zinc (iii) Kho-Dariba
(4) Rock Phosphate (iv) Jamsar
Frafafad & ol &g o I =Y o=l & gea ¥ 981 SO % 999 aiig
CIEE] &=
(1) dfsr (i) @R Bl
@) frew (i) e dard
(3) o W W& (iii) @-Thar
(4) T® wiehe (iv) s=EY
Codes / %2 :

nH @ 6 &
(A @ ) Gv) (i)
(B) G (i) @ v
(C) i) Gv) Gy @
D) (v O ) @)
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{(A) Madhyva Pradesh (B) Uttar Pradesh
{C) Himachal Pradesh (I} Punjab

By | oy e e o 3

gE T O TN & 9 O w8 € %’ g5 § —
. s
(A) =ET gayl
(C) feorew vy (D) 9w

64 The longest dam in Rajasthan is —

{A) Rana Pratap Sagar (B) Mahi Bajaj Sagar
{C) Kota Barrage (D) Bisalpur

T ¥ wEY W Sy ¥ -

(A) TN WY G (B) Tl S G@IY
(C) @ ST (D) drEEgR

65  Which of the following National Highway is the longest in Rajasthan 7
Preforfee & § S U USEE e F 9eE WRT B 7
(A) NH No. 8 (B) NH No. 11

(C) NH No. 12 (D) NH No. 15

66 Balsamand and Kailana lakes are located in which district of Rajasthan 7
(A) Jaisalmer (B) Barmer
(C) Jodhpur (D) Udaipur
ez ot HrEer #iw o e e A Ruag 7

(A) YA (B) EIECEY
(C) sty (D) s

67 'Panchana Darn' is located in which district of Rajasthan 7
(A) Bharatpur (B)
(C) Karauli (D) Dhaulpur
‘grer SfY TR & few e & Rea §7

Alwar

(A) W@ (B) oWt
66 (1929)] = i5
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Which fort is famous as "Garh Beethali” ?

(A) Chittorgarh (B) Taragarh

(C) Kataargarh (D) Kumbhalgarh

5 Sewr W ¥ - gl wRiw § 7

(A) FdETe (B) TS

() W D) TS

Mughal - Mewar treaty of 1615 was signed between .
(A) Akbar and Pratap {(B) Akbar and Udaisingh
(C) Jahangir and Amarsingh (D) Aurangjeb and Ajeetsingh
T - WA §@h 1615 & A ! |

(A) ST TI SO (B) oS TH JaUi®

(C) wEiR g ekl (D) ofioie g ammiais

To which of the following Rajput clan did the ruling house of Kishangarh state
belong?

{A) Chauhan (B) Bhati

(C) Sisodia (D) Rathore

Resrre TreETRT FrelaieT ¥ ¥ e Tegw oW § i ar ¢

(A) M (B)

(C) Redrdrn (D) W

Under whose leadership was the excavation work of Kalibanga accomplished ?
(A) V. S. Wakankar (B) V. N. Mishra

(C) H. D. Sankalia (D) B. B. Lal

HRET BT G@TT B e Jgd ¥ Pl gem a1 7

(A) @I TH. IEHUET (B) & ww. Psm

(C) ww. & giwhm (D) 9. & "

In which script is Ghosundi Inscription written ?
{A) Kharosti (B} Brahmi
(C) Prakrit (D) Sanskrit
St eftrerE Rra Ry ¥ e e § 7
(A) @l

(©) Wi

(B) swEn
(D) wwpa
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(A) Shridhar

(C) Rangey Raghav

ESURVNE S . S — . o s
Tl U A IS 4 % W B ¥ 7

74  Who built the Chitrashala in Garh Palace of Bundi ?

{A) Rao Surjan
{C) Rao Aniruddh Singh

(B) Maharao Raja Ummed Singh
(D) Maharao Raja Budh Singh

& % e Yow F e @ e e eemr 7

(A) = g
(C) ww aifbreg R

(B) #erE T oo R
(D) werUE UST gE [E

75 Bani-Thani painting is related to which school of painting 7

(A) Jaipur school
(C) Jodhpur school

(B} Kota school
(D) Kishangarh school

qui—ell’ ién fopm o Ol @ dERm ¥ 7

(A) YT e
(C) <wrggy 9=l

76 Who was the teacher of Sahajo Bai 7
(A) Ramcharan
(C) Charandas
oo WK F T A 8 7
(A) FE
(C) =™

77 Who was architect of Hawa Mahal 7
{A) Mangilal
(C) Lalchand
T URA W ARGHI B AT 7
(A) il
(C) wwE=<

66 (1929)] =

(B) @ 9w
(D) Ty S

(B) Laldas
(D) Sundardas

(B) wEER

(D) e
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78 Who was sent by Akbar in December 1573 to conciliate Pratap 7 82 Mallinath Animal Fair is organized at which place ?
YV Tilwar (B} Parbatsar
(A) Jatal Khan (B) Man Singh (A) Tilwara (B) Parbatsa
‘ ‘ (C) Merta (D) Nagaur
(C) Bhagwant Das (D) Todarmal U : , A &7
‘ Hew Y 9y A few v v e g R Y
(A) wEE §F (B) == fiz (C) ¥z (D) 7Y
(C) wEa 3" (D) T
83  Which physical division of Rajasthan is a part of Thar Desert ?
(A) Mahi Basin {B) Luni Basin
79  Narayani Devi Verma and Snehlata Verma were related to which Prajamandal ? (C) Banas Basin (D) Chambal Basin
(A) Bikaner Prajamandal (B) Sirohi’ Prajamandal TR T BT Yiiae W Uy U e 9 B0
(C) Jaipur Prajamandal (D) Mewar Prajamandal (A) =R SR (B) I SR
. = . > 3 %‘1 ¥ T H S
ARG S I U wewal on e yweew ¥ gahug W 7 (C) s S (D) === SR
A) R gEEsa B) R wemied . L . .
(A) % ¢ (B) 84 The crop which increases nitrogen in soil is —
(C) wgR yeirHs® (D) #=rg worHEw (A) Rice (B) Wheat
(C) Pulse (D) Sugarcane
80 Who among the following was woman freedom fighter of erstwhile Kota State ? T wEw S g T e FC F, T % a
, : : , : (A) = (B) W
(A) Anjana Devi (B) Kamla Swadhin
. (C) == , (D) =
(C) Narayani Devi (D) Shantadevi Trivedi
Frafufen & @ @7 Saqd e T B e A o ? 85 The river which is not joining the Bay of Bengal, is -
(A) o 3 (B) oo @@= (A) Kalisindh ~ (B) Banas
©) ey (D) sierdr B (C) Mahi (D) Banganga
(A) sy (B) s @
81 Who inaugurated the United Rajasthan which came into being with the merger of (C) =Y (D) sToEEm
Mewar in the Rajasthan Union 7
(A) Sardar Vallabhbhai Patel (B) V. P. Menon : 86 The total length of International Boundary of Rajasthan with Pakistan is —
(C) Jawaharlal Nehru (D) N. V. Gadgil {(A) 1020 km (B) 1070 km
. o a o . o3 (C) 1120 km ' m
Y TSRy W U gy H ves @ e ¥ ofew o e, @ ggeeT feew fear ? © 1 2? mi (D) 1170 kn
(A) 3 (B) & @ T A e $ A s A B g o § -
TLE{ o ¥R e T Ul HTH )
3 (A) 1020 fd (B) 1070 fsh
() WeTeTe e (D) w7 & T (© 1120 Red (D) 1170 fesi
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90

Which district is popularly known as 'Dang ki Rani' 7

(A) Dhaulpur (B) Karauli
(C) Alwar (D) Pali
T @ BeET e S @ T % oA § wiig v
(A) dwgT (B) =
(C) ey (D) Ul

Which one of the following is not correctly matched

(A) Ghaggar - Dead river (B) Bhorat - Plateau
(C) Nagpani - Aravalli Pass (D) Ser - Aravalli Peak
frfofea & @ aF@ o wd gafve T8 ¥ 7

(A) =€ - 9q o (B) ¥R -

(C) FTErFY — ST &0 (D) 9T - AT B TR

The EA'd climatic classification by Thornthwaite does not include which of the
following regions of Rajasthan ?

(A) Barmer (B) Jaisalmer

(C) Jodhpur (D) Hanumangarh
R H 9Fee & Swarg Tey BA'd ® @Fer & w8l aar?
(A) s (B) ey

(©) irerge (D) T

Kattha is obtained from which part of khair tree 7

{A) Wood of tree (B) Leaves
(C) Roots (D) Peel
Y g8 H BEE AT ¥ HeT U feer s ¥ 7

(A) meedt woel § (B) & ¥
(C) weid (D) B 4

In which year 'Rajasthan State Environment Policy' was introduced in Rajasthan ?
TR A SR (g wateRer Wik few o ¥ @ g ?

{A) 2005 (B) 2010

(Cy 2015 (D) 2017

66_(1929)] = 20 [PT.O.

92 Who initigted the Bki movemsnt 7

(A) Motilal Tejawat {(B) Govind Giri
" {(C) Viiay Singh Pathik (D) Jainarayan Vyas

(A) AdwR SorEd (B) wify= Wi
(C) faoulds diys (D) wORToY B

93  “With which Peasant Movement is Trench Commission associated 7

{A) Alwar Peasant Movement (B) Meo Peasant Movement

C) Begu Peasant Movement (D) Jat Peasant Movement
2 {

T iym feg feam oidem € ERm ¥ 7

A) e e ariees B) 99 feum e

e
C) ¥ feEm ke (D) we feEm SR
(< ¢

94 Who led the revolt of Auwa in Rajasthan ?

(A) Harisingh (B) Tantia Tope

(C) Jaidayal (D) Thakur Kushal Singh
ey W ser & [oEE feed Tge W ogen ot 7

(A) =ftids (B) wiwr 29

(C) wiggEaTw (D) @t g s

95 Who was the First Chief Minister of Rajasthan ?

{A) Jainarayan Vyas (B) Mohanlal Sukhadiya
{(C) Heeralal Shastri (D) Hardev Joshi

T % 9uW geaHsl B g ¢

(A) SOOI (B) #Arem g@new
(C) e el (D) v el
66_(1929)] == 21
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96 Where is "Patwon ki Havell” located 7
(A) Udaipur
{C) Jodhpur
‘qaa?{ @?5 %é%é%’ Eﬁg\’; 5%&%5 % ?

(C) wugR

97  Who built the Govinddevji temple of J

(A) Maharaja Pratap Singh
(C) Sawai Ishwar Singh

o

(By Fg@ex
(D) wEr

aipur 7

(B) Sawai Jai Singh
(D) Raja Man Singh

SOYY % MiEEs "7y w1 A e wEmn 7

(A) WEET YaMdRis
(C) warg syaiis

(B) wuw waidE
(D) e AERE

98 On which festival is Khejri Tree worshipped in Rajasthan ?

(A) Gangour
(C) Holi

(B) Teej
(D) Dussehra

ORI H ESTel gE @) 9 69 ud 9 & Wy § 7

(A) O
(C) =

(B) @@
(D) w7

99 Where is the Fair of Kalyanji organised ?

(A) Jaipur
(C) Falna
HTTE & I Hel AT S & 7
(A) Wy
(C) @

(B) Amber
(D) Diggi

(B) &R
(D) &=y

160 In whose memory is the Tilwara cattle fair held 7

(A) Gogaiji
(C) Mallinathii

(B) Pabuiji
(D) Tejaji

fpae @i ¥ u@ater 1 Uy SO eTang g § 7

(A) TS
(C) afvwses

66_(1929)] = 22 [PT.O.

(B) e
(D) TS
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